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https://zenn.dev/kuto5046/articles/8e612b473c4d75
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misconception_mapping.csv
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[Wisconceptond Misconcephontame

0 Does not know that angles in a triangle sum to 180 degrees
1 Uses dividing fractions method for multiplying fractions
2 Believes there are 100 degrees in a full turn
3 Thinks a quadratic without a non variable term, can not be factorised
4 Believes addition of terms and powers of terms are equivalent e.g. a + ¢ = a'c
5 When measuring a reflex angle, gives the acute or obluse angle that sums to 360 instead
6 Can identify the multiplier used to form an equivalent fraction but does not apply to the numerator
7 Believes gradient = change in y
B Student thinks that any two angles along a straight line are equal
9 Thinks there are 180 degrees in a full tum
10 Believes duration can be read from a timetable, rather than calculating from start and end times
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Questionld_Answer,Misconceptionld
1869_A,1 23 4567 89 108 11 12 13 14 15 16 17 18 19 20 21 22 23 24 25
1869.B,1 23 4567 8910 11 12 13 14 15 16 17 18 19 20 21 22 23 24 25

1869_.C,1 23 456789106 11 12 13 14 15 16 17 18 19 20 21 22 23 24 25
18706_.B,1 23 456 789 186 11 12 13 14 15 16 17 18 19 20 21 22 23 24 25
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https://www.kaggle.com/code/sinchir0/retriever-tfidf-reranker-deberta-3-infer
https://www.kaggle.com/code/sinchir0/fine-tuning-bge-train
https://www.kaggle.com/code/takaito/eedi-copy-fine-tuning-bge-infer-single-model
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